20245 BHERW

1388 2[@ 8 (R—F) R B R
RE—k K 4 H cp (FHE-R) (R—mE—H)
X PobL | R i — 5 ey i —
7:22 F124% AR B 11 2-1
R AZ2—ERE
7:00 i R —
R| Pk P — 7 e s 2-1
7:15 $134L WIS 5 2UP
HRE R —
| Pehr == 13 BR fe 1UP
7:15 Bofs LV 6 1UP B fa
25—h B LUP
7:07
-3 P14 V% FEME 9 Mg FERE
7:22 F 164 I fe 8 2UP B
ARE3— 5
2[E & (FA—EE) R 7:00 A R
AE—hk K % H' cp (F-8) 7-6
] F 64 AT AR 5 ER flR
7:22 FULL| H EZ 11 5-3
RA— R
7:00 A AR
Ay Pomr | M K 12 s AR 1UP
7:15) F1448 | BRI =KX 10 7-5 AT feR
3-1
| P46 PRYL IEfE 11 PRYT IEfE
715 106 | A AJY 4 5—4 Rl EER
R — 7-5
7:07
] Fofr | By EER 6 Rl EE K
7:22 BAI56L | UTiE B 0 64
[ B%E] 1 [E]18 58198 (H) 18HYYFIL— 1444 2<vyF)TL— EILT
2EI%- %k 5H26H(H) F18HIYFIL— FrT4ft
RO 6A2R(A) 27HTYFTL— FrT 43

aART4aVERER



